Quiz € 13

October 22, 2016

Show all work and circle your final answer.

1. (8 points) A particle is traveling along the curve y = sin(m/z)+
In 7. When the particle is at the point (4, In 7), the z-coordinate
is decreasing at a rate of 2 units per second. Find the rate at
which y is changing at this time.
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2. (12 points) A lamp post is 12 feet tall, and Lucy is 4 feet tall.
She walks toward the lamp post at 2ft/sec. How fast is the tip
of her shadow moving when she is 9 feet from the lamp post?
(l?}ease sketch and label a diagram!)
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